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Regression model

================

Type: Polynomial (1th)

The regression equation is

 y = Ax + B

 y = 1.4625x - 0.5333

Predictor      Coef           

------------------------------

A              1.4625         

B              -0.5333        

Number of observations: 15

SSE (Sum of squared errors)        : 6.4396

MSE (Mean squared error)           : 0.4293

MAPE (Mean absolute percent error) : 0.0835

RMSE (Root mean squared error)     : 0.6552

ME (Mean error)                    : 0.0000

MAE (Mean absolute error)          : 0.5161

MPE (Mean percent error)           : 0.0270

SEE (Standard error of estimation) : 0.7038

R2(R-Squared)                      : 0.9894

Thiel inequality coeff.            : 0.0255

AIC (Akaike`s information criteria): -8.6838

AICc (Akaike`s information criteria: -7.6838

BIC (Bayesian information criteria): -7.2677

Durbin-Watson                      : 0.9794
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